%l e ROl
I}, ol o, Aejel jgl
@ f(x) =ax+b(a+0)
@ f(x) = Ixl
® f(x) = -

S f R —» R7F o2 2ol A|A
Ae?
@ f(x) = x2

@ f(x)=2



2. & f(x)7F f(x) = x24+2x-3 0] O] o] A= xof tote] g(x+1) =
flx—1)°] 4H< o, g(0) 9] @k F-5tolzt

D L
-



® ly = f(x)} C yly = g(x)}
® f(x)+g(x)=0



f(x)=-x+k7}

o, &5 k o 727

i ts<d

o]
=

@ 2 ® 3 @ 4 ® 5

D1



=Y(d, xeX)

(i) x1 # x2 O f(x1) # flx2) (Frx, x2€X)

A. f(x)=x*-1
B. f(x) =|x|+2x
C.f(x)=x3+1
2
DS =
®AaB @AC O®BC @BD OCD




6. Ol f(x) = 2 —4x 7 AUTE & f X - X 7 Y TS o] H
T2 5= H X S 5 X = (x| x> k) o]th. o] o}, k 9] &2

@1 @ 2 ® 3 @ 4 ® 5



7.

fofE f2 fofo g fHk ol ekl uf, f(x) =
o} k27

© -2 @ -1 ® 0 @1




sted (fog)(k) =25

3x +20°f o

@1 @ 2 ® 3

@0



x+k glx) =x*+1°] tsto] fog=gof 7t
k °] k& Astoiet.



10.

@ f(x)=x+2
@ f(x)=2x+1

@ fx)=x-2
® flx)=2x+2



11.



12, o5 B79 by = f(x) F f(x) = fH(x) E W&ot A2 25
=27
H7]
I.fx)=x
I.f(x)=-x+5
3
. f(x) x+—42 +2
x

V. f(x) P
O I,I,1II @ I,I,N ® I,I,NV
@ I, oW



B x2+1(x20)
13. fm = {x+1(x<0)

e Fetolat

D L
=%



14.

S
o4

aTy=

Hole?

@ 6

flx) fhy = f"1(x) o 22

(x) = 2x — 4 o tisto] f(x) © 4
ShA

=i}

e

SFEAE
(‘):]l__l"é_

o7

=
=

'(x) 2 3 o,
el =90

® 14



15. ofgfo] 1y = gt

dFy = flx),y=x 9 T Zo|t}. () 9
e Tatofa
yp Y=z
dF---- iy




)9

@ 2 ® 5

® 0



® 2

1



—~~

— ™M
S—
S S~
vi Al

o~~~

S
LK

— ==

© @) =37(1)

Q f(2)=1

© f(=1)>f(1)

ON@E) ® Q9,0

NG

® 0,0,6

ORONG)



1 .

9. ¥ fi(0)7Ffi(x) = ?Xl’fnﬂ et
yog A

SEENMEEE T



A% AR FAA AR T G5 £ g 7

@ )
Yy Y
1
95 1 -2
—_—
-3 -10[ 1 2 3% -3 -10| 1 2 37
® @
4 Yy
_ _ 1
-3 -10| 1 2 37 -3 -10| 1 2 3¢
®
Yy
1
—o—_02—¢——¢—o—o—>
-3 -10| 1 2 37




21.

A4 24| g RAA RES]

of Zro] Aolsitt, g4 fo] Ag4

=

£ Fahu?

W fE frxoar-1+(2-a)x+a
Gk 2 ), A4 a0 3ol B

©a<l @ a>1 ® 0<a<?2

1 2
® -5 <a<? @O<a<§



4x + 1 of ti5}od

ax+b, g(x) =

@ 3 ® 5 @ 7 ®9

D1



M

s

h(x) &

F5telet,

O
=

(x) = 2E B h(x) o R3] (ho fog)(x)
=3x+1d ™, £(7) gk



